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ANSWERS
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Any three different ways you have made:

36 

47

58

99

	Practice
Have a go at completing these calculations to make a total of 100.
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	Reasoning
Explain your answers.
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	Problem solving
Complete the extended part-whole model:
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Can you create your own extended part-whole model for 76?
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30+40+[ |=100

40+ |+20=100

36+44+| |=100

36+54+ |=100

47 +{_|+20=100

47 +[_|+30=100
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5a. Tyrone is incorrect, he has mixed his
digits up instead of 2 tens he should have
2 ones, instead of 6 ones he should have 6
tens. His parts should therefore be 60 and
2.
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5b. Janine is incorrect because 33 and 5
make 38. Her 5 needed to be 50 fo make
the part whole model correct.
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